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i) Smallest natural numberis 1

11) Smallest whole number is 0

(11i} Largest natural number is can not be obtained

[Iv) Largest whole number is can not be obtained
v} All natural numbers are whole numbers

vi) All whole numbers are not natural numbers

vil) Successor of 4099 is 4099 + 1 =4100

viii) Predecessor of 4330is 4330 -1 =4329
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Three natural numbers after 10,99¢
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ymbols are used to show how the size of one
umber compares to another. These symbols

re < (less than), > (greater

nanj, = (eq ”E'!E-ﬁf or not equal sign

s M inediag
Smaller than -
< Blgger than
Larger than

xample, since 2 is smaller than 6 and 6 is
arger than 2, we can write: 2 < 6, which says
e same as 6 > 2 and of course 6=6
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Closure Property Of Whole Numbers

- Addition of whole numbers always gives a whole
number. Thus whole numbers are closed under addition.
- For Example, 3+8 = 11

- Subtraction of whole numbers does not always give a
whole number. Thus whole numbers are not closed under

subtraction.

- For Example, 5-7 = -2, which is a negative integer and not a whole
number.

- For Example, 9-6 = 3 which is whole number.




({)2+8=8+2
multiplication

({i)8x90=90x8 |(b) Commutativity

RBSESolutions.com of addition

(i11) 885 x (100 + 45) |{c) Associative

= 885 x 100 + 885 x 45|  property of

multtphcatmn

(iv) b x (4 x 28) | {dj mulhphi:ntmn B
=(bx4) x28 Distributtion

on addition
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Moving grouping symbols does not

change your answer

J+(0+7)=(3+3)+7 (6 ™ 3) B .-
a+(b+c)=(a+0)+cC s (b c)=(a"bi”

o "butive Multiply your outside term times all terms inside
the parentheses
alb+c)=ab +ac
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Addition |Multiplication 20 + 30
6 Cl-3)=lb | 2~(5-D-10 5(4+£)=50
(6131 [{{(Z-5)~4=4H0
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